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1. Agata is thinking of a secret number.

She multiplies her secret number by 10 and gets the answer 50

Write down Agata’s secret number.

Agata’s answer

Agata’s secret number Agata’s

secret number

Agata’s
answer

× 10

1. . . . . . . . . . . . . .

2. Sean is thinking of a secret number.

He multiplies his secret number by 4 and gets the answer 12

Write down Sean’s secret number.

Sean’s answer

Sean’s secret number Sean’s
secret number

Sean’s
answer

× 4

2. . . . . . . . . . . . . .

solvingReady (6) Q1: Agata’s is 5, Q2: Sean’s is 3, Q3: Vanhi’s is 11, Q4: Remi’s is 4

1. Agata is thinking of a secret number.

She multiplies her secret number by 10 and gets the answer 50

Write down Agata’s secret number.

Agata’s answer

Agata’s secret number Agata’s

secret number

Agata’s
answer

× 10

1. . . . . . . . . . . . . .

2. Sean is thinking of a secret number.

He multiplies his secret number by 4 and gets the answer 12

Write down Sean’s secret number.

Sean’s answer

Sean’s secret number Sean’s
secret number

Sean’s
answer

× 4

2. . . . . . . . . . . . . .
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3. Vanhi is thinking of a secret number.

She multiplies her secret number by 2 and gets the answer 22

Write down Vanhi’s secret number.

Vanhi’s answer

Vanhi’s secret number Vanhi’s
secret number

Vanhi’s
answer

× 2

3. . . . . . . . . . . . . .

4. Remi is thinking of a secret number.

He multiplies his secret number by 3 and gets the answer 12

Write down Remi’s secret number.

Remi’s answer

Remi’s secret number Remi’s
secret number

Remi’s
answer

× 3

4. . . . . . . . . . . . . .

3. Vanhi is thinking of a secret number.

She multiplies her secret number by 2 and gets the answer 22

Write down Vanhi’s secret number.

Vanhi’s answer

Vanhi’s secret number Vanhi’s
secret number

Vanhi’s
answer

× 2

3. . . . . . . . . . . . . .

4. Remi is thinking of a secret number.

He multiplies his secret number by 3 and gets the answer 12

Write down Remi’s secret number.

Remi’s answer

Remi’s secret number Remi’s
secret number

Remi’s
answer

× 3

4. . . . . . . . . . . . . .
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